
ОТВЕТЫ 

8 КЛАСС 

 
 
 
 
 
 

 
Часть 1 (15 баллов) 
 

№ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

Ответ в а а б в в г в а б в а в г а 

 
Часть 2 (12,5 баллов) 
 

№ 1 2 3 4 5 

да/нет да нет да нет да нет да нет да нет 

а Х  Х  Х  Х  Х  

б Х   Х Х  Х   Х 

в Х   Х Х  Х  Х  

г  Х Х  Х  Х   Х 

д  Х Х  Х  Х   Х 

 
Часть 3 (6 баллов) 

3.1. 

Характеристики 1 2 3 4 5 6 

Процессы 

жизнедеятельности 
а б б а а б 

 
3.2. 

Растения  1 2 3 4 5 6 

Природные 
сообщества 

б а а а б а 

 

Часть 1 Часть 2 Часть 3 Итог 

15 12,5 6 33,5 


